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1. Candidates are requested to read instructions

carefully and advised to adhere to all the
instructions given.

. There will be objective type examination of 03

hours duration consisting of 100 Multiple Choice
Questions (MCQ) of total 100 marks.

. The candidate must check that the Test Booklet

has all 100 multiple choice questions in
sequence. If any discrepancy is noticed, report
same to the Invigilator immediately and request
for another Test Booklet.

. Candidate should ensure that the Test Booklet

contains total number of pages written on the top
of cover page of the Test Booklet. The
candidates shall not remove any page(s) from the
Test Booklet and if any page(s) is/ are removed
from his/ her Test Booklet, he/ she will be
prosecuted and shall be liable for criminal action.

. Write your Roll Number and put your signature

on the space provided for the purpose in Test
Booklet.

Fill Roll Number, Test Booklet Number, Test
Booklet Code, Post Applied for, Name of
Applicant, Date of Birth and Signature at
appropriate place in the OMR Answer Sheet.

. Space has been provided at the end of Test

Booklet for rough work.
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8. Each question has four options. You have to
choose the correct answer from the given options
and darken the relevant circle on the OMR
Answer Sheet.

9. One (01) mark will be given for each correct
answer and if any question has been
incorrectly answered or more than one
answers have been marked, then for each
such question 1/3 (one third) mark will be
deducted.

10. Dark only one circle for each answer with black
point pen. Scratching, overwriting, tick-mark and
multiple answers will be considered as wrong.

11. Invalidation of OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it
or due to any other damage to it as well as
incomplete filling of the Test Booklet or
overwriting on the circle or use of whitener, will
be the sole responsibility of candidate. No rough
work on OMR Answer Sheet should be done.

12. Candidates using unfair means/activities will be
expelled from the examination centre and their
answer sheet will not be evaluated. When caught
indulging in unfair means, the candidate will be
handed over to the Police for further action.

13.No candidate shall be allowed to leave the
Examination Hall before concluding the
examination.

14.No candidate shall be allowed to leave the
examination hall without handing over the OMR
Answer Sheet to the concerned Invigilator.

15. Violation of any instruction shall entail
cancellation of candidature in addition to any
other appropriate action that may be taken by
HFRI, Shimla against the candidate.

16. English version of the Test Booklet will be valid
for any sort of dispute and will be under the
Jurisdiction of courts of Shimla, Himachal
Pradesh.
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) GENERAL AWARENESS & REASONING

1.

Who advocated Yoga philosophy?

A) Patanjali B) Sankracharya
C) Yogda D) Gautam
AT g Y FETAd R F

A)  gdasifer B)  eiewrary
C) arer D) atas
Who had written Geet Govind?

A) Jayant B) Jaichand
C) Jaisingh D) Jaidev
Ma Mg s o &

A) =T B) Sdg

C) FafdE D) g
Tussar, Eri and Munga are the varieties of:

A) Cotton B) Silk

C) Wool D) Pashmina
A) FUg B) Y&

C) == D)  geseT

Indian Fundamental Rights can be suspended by:

A) The Union Cabinet B) The Chief Justice
C) The President D) None of these
s Alfes ¥0FR #f Fafea &1 gwar &

A) For #fFHEzT B) e amatder
C) seufa D) zosi @ IS 8T
Complete the series D, g, K, n, R, ?:

A u B) v

C) U D) V
@l T U FD, g, K, n, R, ?:

A u B) v

C) U D) V

Shyam goes 4km to North, then travels 6km to East and further travels 4km to
North. How far is he from starting point?

A) 6km B) 14km

C) 8km D) 10km

I 4 fF # 3T A AR Sar B BT @ A AN 6 B A sk ame 3w A a4
f& &t &y amr Fxar &1 aE e g & hae gy

A) 6 frar B) 1fEah

C) 8 fmar D) 10f&a



10.

11.

12.

13.

Which one of the following collection of letters will look same in the mirror?

A) VHRTRVH B) HIMOSTA

C) AOVIVOA D) OSMIHOM
farfaf@a & ¥ Fia a1 3R gdor # gHEE @ I

A) VHRTRVH B) HIMOSTA

C) AOVIVOA D) OSMIHOM
Which of the following diseases are caused due to a virus?

A) Ebola B) AIDS

C) SARS D) All of the above
fArafaf@d & ¥ #ia & Had arRE F FRor @ @2

A)  sater B) usw

C) ar D) IRiFa @sh

Who has won the best FIFA Women's Player for 20207

A) Lucy Bronze B) Ada Hegerberg

C) Megan Rapinoe D) Marta

2020 % fT waAss Hrer Afgar e F1 [EER e sar 82
A) T St B) wsr goRest

C) T ufRE D) AwT

Which is the oldest Hydro-electric project in Himachal Pradesh?
A) Baner B) Shanon

C) Bhakhra D) Thirot
Roraer wdor F wed Wt sre-fagga wReen #tF @ 2

A) R B)  emetet

C) sm@sr D) R

If February 29™ falls on Monday, what would be the 11" day of the month?
A) Wednesday B) Saturday

C) Thursday D) Monday
Iy 29 HIEd WHAGR F' sdr §, aF AF &1 11 ai e Far ghom ?
A) FUER B) efaar

C) AR D) @ar

Which of the following countries is a part of BIMSTEC and SAARC?

A) India, Nepal, Bhutan, Indonesia B) Bangladesh, India, Bhutan, Nepal

C) Nepal, Bhutan, Pakistan, D) Bangladesh, Afghanistan, India, Sri
Thailand Lanka

frafaf@a & @ Fia @1 o Rrmes ik aF &1 & e 2

A) AR, AT, $TT, SR B)  Sieancer, 3R, T, A9

C) e, e, UIfhEaret, Uisels D) siencer, srweanfaedr, ARd, e

National Youth Day is celebrated on
A) 12" January B) 6" July
C) 8" September D) 10" October



T FaT feaw AT ST @

A) 12 SeTad B) 63ms
C) 8Raw D) 10 3@
A money bill can be introduced in parliament with the recommendation of
A) Prime Minister B) President
C) Speaker of Lok Sabha D) Finance Minister
Fadh R & gae & aa Qs Jo BFar o1 @@ar §
A) g Ji B) rsgufa
C) ohepasT & 3reTeT D) faa &

Mr. Rao is 12 times as old as his son. After 8 years, Mr. Rao will be 4 times as old
as his son. What is the present age of Mr. Rao?

A) 48 years B) 32 years

C) 36 years D) 40 years

A [ I I F 12 AT 93 §1 8 WA 91g M T A I F 4 AT 93 EN
At T F FAAT I FAT F?

A) 489y B) 32a¥

C) 3pay D) 40a¥
Who was the first Indian to win Noble Prize?

A) Ravindra Nath Tagore B) C.V.Raman

C) Mahatma Gandhi D) None of the above
dAldd [EHR Side aTe Tge ARCAT e 42

A) g a1y TR B) &t &t &=

C) #grcAT el D) 3Wiad & & FS 78

Dachigam Wildlife Sanctuary is situated in which State/Union Territory of
India?

A) Uttarakhand B) Jammu & Kashmir
C) Arunachal Pradesh D) Himachal Pradesh
SERIH I=g<ig IHIRVT AR & 59 Tsq/ &g afda e # Rya 2
A)  FTIES B) S 3k @R
C) 3reumae geer D) fRATT weer
What is the height of Mount Everest?

A) 8678.58 m B) 8768.68m

C) 8848.86m D) 8848.56 m
A3 TaFe A FI$ fFa«r &2

A) 867858 B) 876868 #

C) 8848.86 #r D) 884856 #



19.

20.

Study of fungi is known as

A) Pomology B) Geology
C) Mycology D) Pedology
F9F & HEAAT FT T o167 &

A) wapl faame B) ofF faamer
C) waw fAae D) facd e
Find the odd one

A) Guitar B) Flute

C) Violin D) Cello
v =t 94

A) R B) gl

C) arafaa D)  @er

1) ENGLISH AND GENERAL SCIENCE

21.

22.

23.

24,

25.

26.

27.

We hope that Papa......... soon.
A) come B) iscoming
C) shall come D) will come

I will follow you wherever you ...........c.cccccoeeee.

A) go B) goes
C) willgo D) shall go
When the word “active’’ is changed in to Noun, it becomes
A) Act B) Action
C) Activity D) Activate

Change the voice of: ‘Do you write poetry these days?’

A) Are poetry written by you these B)  Has poetry been written by you these
days? days?

C) Have poetry been written by D) Is poetry written by you these days?
you these days?

Synonym of Uniformity is:

A) Routine B) Continuity

C) Stability D) Consistency
Find one word substitution for: Equal in rank, merit or quality
A) Chum B) Contemporary

C) Peer D) Colleague
Find out that word, the spelling of which is wrong:

A) Demonstration B) Tution

C) Mendacious D) Audience



28.

29.

30.

31.

32.

33.

34.

35.

Which one of following best expresses the meaning of ‘Repartee’

A) Refuse
C) Quick witty reply

B)
D)

Celebrate
Question

One who talks about his achievements is known as:

A) Epicure
C) Effeminate

The folder which retains the copies of the messages which you have started, but

not  yet ready to be sent:
A) Drafts
C) Outbox

Saffron is obtained from:
A) Petals of Musa
C) Style and stigma of Musa

T & ured g &

A) s b g

C) marar wega AR e
Ornithology is the:

A) Study of plants
C) Study of reptiles

B)
D)

B)
D)

B)
D)

B)
D)
B)
D)

B)
D)

Emigrant
Egotist

Sent
Inbox

Petals of Croccus
Style and stigma of Croccus

g agfEar
PIhT TeBd IR Feaar

Study of fishes
Study of birds

ASTOAT &1 eI
gferdy T 37T

Which one of the following pairs is not correctly matched?

A) Govind Sagar-Satluj
C) Ukai Reservoir-Tapi

B)
D)

Kolleru lake-Krishna
Woular Lake-Jhelum

farfaf@a & ¥ &l @1 e g & ¥ A A @rar 22

A) fdg AR-Tcl T
C) 3o Sremerg-ard

Which one of the following reflects more sunlight as compared to other three?

A) Sand desert

C) Land covered with fresh snow

farafaf@a & & sl @ 3 e fr gorer F 3f0F qF F g Arafafifea

FLAT &7
A) T P
C) arer 9% & AT T oA

If the stars are seen to rise perpendicular to the horizon by an observer, he is

located on the
A) Equator
C) South Pole

B)
D)

B)

Flele SiTel-HsuT
JeR ier-grorH

Paddy crop land

D) Prairie land

B)
D)

B)

D)

Tl HT T A
T g oA

Tropic of Cancer
North Pole



36.

37.

38.

39.

40.

I RAaRT # v TddeF gant s & dewT # 397 gU @ o @, A qw

wel W ¢
A) AT Y@T
C) efaor ¢a

Computer RAM is--------- and -----—-—--

A)  Non-volatile, temporary
C) volatile, temporary

FogeT k103 el
A) =3RRIl
C) 3fEr, srearh

B)  Non-volatile, permanent
D) Volatile, permanent

B) dv-arfeer, warh
D)  3rfeem, TR

A computer does not boot if it does not have:

A) Compiler
C) Assembler

B) Loader
D) Operating system

TF F ¢ AG T § IS 3HA 7 8

A) FUER
C) 3R

Which acid is found in vinegar?
A) Hydrochloric Acid
C) Acetic Acid

A& & *IT 97 3FT 9T AT §°?
A) geFde TS
C) cfafes thas

The S. I. unit of refractive index is
A) Meter
C) Watt

Rhapfea 3 1 @ I TS &
A) A
C) are

Photosynthesis occurs in
A) Nucleus
C) Chloroplast

FHTT HRANT fFas gar &2
A fFeaE
C) FaRITaTEe

B) =X
D) e ReeH

B) Sulphuric Acid
D) Nitric Acid

B) dowrgRe ths
D) asfes wias

B) Centimeter
D) No unit

B) dfesex
D) =% s A&

B) Mitochondria
D) Golgibody

B) #Argcifegar
D)  aershr atd



1) ARITHMETIC

41.

42.

43.

44,

45.

Twelve women complete a work in 20 days. If only 8 women are employed, the
time required to complete the same work is:

A) 30 days B) 25 days

C) 35days D) 40 days
aRg AfgATT 20 &Y F vH Fer qu FA §) afe Faar 8 Afen? Fnka Ear
3 F B QU T F AT 3raRTF w7

A) 30 feaT B) 25fea

C) 35fa D) s0fR=A

Three bells toll at intervals of 36 seconds, 40 seconds and 48 seconds,
respectively. They start ringing together at particular time. They will toll next
time together after:

A) 12 minutes B) 18 minutes

C) 9 minutes D) 6 minutes

ofier 58 Farer: 36 Vs, 40 VF3 3N 48 VF3 F AT W ao<ht § ¥ Raw
AT U T A I1 YE gl §1 T 30Tl IR TF [ qora:

A) 12 fAee B) 18 f&ec
C) 9ffec D) 6fAac
41781923 is the cube of which of following?

A) 97 B) 477

C) 1997 D) 347
41781923 FT A @ Fw F1 997 &7

A) 97 B) 477

C) 1997 D) 347

If 60%0 of 3/5 of a number is 36, then the number is:
A) 75 B) 80

C) 90 D) 100
gfe frdY WE&AT T 3/5 T 60% 36 & ar HEAT T
A) 75 B) 80

C) 90 D) 100

The average of six numbers is 3.95. The average of two of them is 3.4, while the
average of other two is 3.85. What is the average of remaining two numbers?
A) 4.6 B) 45
C) 44 D) 43

og &3t &1 3itad 3.95 &1 399 @ @ F71 3w 3.4 § S9fF 37 & Fr kA

3.85 g1 Av &Y wEurHt &1 twa Far 2
A) 46 B) 45
C) 4.4 D) 43



46.

47.

48.

49,

50.

When the numerator of fraction increases by 4, the fraction increases by 2/3. The
denominator of the fraction is:

A) 4 B) 6

C) 8 D) 10
S 3 AOTF FT HA 4 9§ ATaT g, @ I F /3 Hr gEfdr gt T 3ver T reE

A) 4 B) 6

C) 8 D) 10
What per cent of 7.2 kg is 18g?

A) 25% B) 25%
C) 0.25% D) 0.025%
7.2 fham &1 18g fFa=m ufdera &2

A) 25% B) 25%
C) 0.25% D) 0.025%

A certain distance is covered by a cyclist at a certain speed. If a jogger covers
half the distance in double time, the ratio of the speed of the jogger to that of

cyclist is:
A) 1.2 B) 14
C) 21 D) 41

wF faRaa afd W vF wpfea aes @ e ARea gt v # s 71 3l
TF FANR QY ¥AT # I qft F a7 Far § @ anfed gew ik SR fr
AfY FT AT &

A) 12 B) 14
C) 21 D) 41

Look carefully on the pattern, and then choose which pair of numbers comes
next:
8,11, 21, 15, 18, 21, 22, .......

A) 25,18 B) 25 21

C) 25,29 D) 24,21
doot A e & 39, i e 9 & w9 o we e Aew ow ol &

8, 11, 21, 15, 18, 21, 22, .......
A) 25,18 B) 25, 21
C) 25,29 D) 24,21

On selling 17 balls at Rs. 720, there is a loss equal to the cost price of 5 balls. The
cost price of a ball is:

A) Rs. 45 B) Rs.50

C) Rs.55 D) Rs.60

17 et #t 3. 720 W d9 & 5 el A FeT F WA JHA T ¢l TF g H1
T ¥

A) Rs. 45 B) Rs.50

C) Rs.55 D) Rs.60

10



51.

52.

53.

54,

55.

56.

A man has some hens and cows. If the number of heads be 48 and the number of
feet equals 140, then the number of hens will be:

A) 22 B) 24

C) 26 D) 28
U WA F U Fo fgRar Ak m §1 Il R A wEar 48 @ 3k R fq
TEAT 140 F &R @), ar AT Hr wear g

A) 22 B) 24

C) 26 D) 28

A person crosses a 600 m long street in 5 minutes. What is his speed in km per
hour?

A) 3.6 B) 7.2

C) 84 D) 10

UF gfFd 5 fAde & 600 Hiex @l e R Far &1 FeAY wfy o 7 3@y afq
a1 7

A) 36 B) 7.2

C) 84 D) 10

Find the least number which will leave remainder 5 when divided by 8, 12, 16, and

207
A) 240 B) 245
C) 265 D) 235
8,12, 16 3k 20 ¥ fasnfaa g9 W e} S &A1 AT FY AT AY 5 F S
&af?
A) 240 B) 245
C) 265 D) 235
What is the descending order of fractions?
A) 5/8;9/13; 11/17 B) 5/8;11/17;9/13
C) 9/13;11/17;5/8 D) 11/17;9/13;5/8
Y FT HE FA FAT §?
A) 5/8;9/13; 11/17 B) 5/8;11/17;9/13
C) 9/13;11/17;5/8 D) 11/17;9/13;5/8
Choose the correct answer by evaluating 28% of 450 + 45% of 280.
A) 152 B) 234
C) 328 D) 252
450 FT 28% + 280 FT 45% FT HediweT Fh TG 3T FT 9T HY
A) 152 B) 234
C) 328 D) 252

The ages of x and y are in the ratio of 3 : 1. After fifteen years, the ratio will be 2
: 1. Find the present ages

A) 30,10 B) 45,15

C) 21,7 D) 60,20

11



S7.

58.

59.

60.

xR y# I 3: 1 F Hqud K | g Wl F 91G, AT 2: 1 FEM AAATT

Y AT Hf
A) 30,10 B) 45,15
C) 21,7 D) 60,20

The product of two numbers is 120 and the sum of their squares is 289. The sum
of the number is:

A) 20 B) 23
C) 169 D) 33
& WEATHT T AUIThS 120§ AR 3% @t FT AT 289 F1 WEAT FT AN &
A) 20 B) 23
C) 169 D) 33
How many times are the hands of a clock at right angle in a day?
A) 22 B) 24
C) 44 D) 48
faeT & frdell aR @ & & FHRIUT W T &7
A) 22 B) 24
C) 44 D) 48

The length and breadth of a cuboid increases by 20% and 25%. By what percent
the height should decrease so that the volume of the cuboid will not change?

A) 23.23 B) 33.33

C) 40 D) 45
TF g Y a9 3w Tl 20% 3R 25% ¢ St §1 fFE gfdua @ FErS

el IIfge aifes aamer &1 3IdeT 7 dga?

A) 23.23 B) 33.33
C) 40 D) 45

By mistake, a line segment of length 2.50 cm has been measured as 2.55 cm. The
percentage erroris .......

A) 10% B) 5%
C) 4% D) 2%
Tt A TH T3 A da1$ 2.50 A Fr 2.55 @ ATT 134T 71 Wl AR T
A) 10% B) 5%
C) 4% D) 2%

V) Relevant Subjects (Botany, Zoology, Forestry and Agriculture)

61.

Estimation of age of woody plant by counting annual rings is called as :

A) Dendrology B) Dendrochronology

C) Demography D) Histology
aifis @ & Pia 9l it 3 1 IFTA T F FT AT 6
A) sas B)  Sayprteiist

C) SHramd D) feeresht

12



62

63.

64.

65.

66.

67.

Bandipur National Park is located in:

A) Madhya Pradesh B) Andhra Pradesh

C) Karnataka D) Kerela
T T 3 R &

A) 7Y weUr B) 3y g

C) wales D) &
Tension wood is found in:

A) Conifers B) Angiosperms

C) Ferns D) Bryophytes
&oeT g3 ui$ It &

A)  FifAHE B) ufSaeT

O o= D)  smarmrsea

Which one of the following is not a climax unit?

A) Association B) Consociation

C) Differentiation D) Faciation
frfaf@a & @ #ia @ v AT Ao 78 B

A)  gafa B) asa

C)  ReoT D) g
Megasporophyll is the term used in gymnosperms to denote

A) Carpels B) Stamens

C) Leaves D) Female cone
ST § AR esg F g99T & AWRT fRar Smar §
A) 3isa B) g

C) D) T o

Sexual reproduction in Rhizopus occurs through:

A) Gametangial contact B) Gametangial copulation
C) Planogametic copulation D) Spermatogamy
TESd & dAfF goieter & Aregd F @an &

A) Ao Fitwe B) afifore srqeew
C) comrifaRkes @rqerae D) Fowerth

First DNA glycosylase enzyme discovered is:

A) Uracil DNA glycosylase B) Thymine DNA glycosylase
C) Adenine DNA glycosylase D) Methyl Adenine Glycosylase

9gell 3 T T TABHIAoST TASH el 4T §:
A) AT FuaIT TeHIeT B) usfaa Sivav sorssif@ds
C) usfaa duaAv TaTsHIfFeT D) fAuger wfaa TasHhIi@dsT

13



68.

69.

70.

71.

72.

Homeostasis is
A) The tendency of biological B) Tendency of biological systems to resist
systems to change with change change
in environment
C) Disturbance of self-regulatory D) Biotic materials used in homoeopathic

system and natural controls medicines
DR §
A)  gIeReT # IRade & @ B) uftgde & e == & fow Sifaw
s yonfertt i oRada sonfertt #r wafr
i
C) Tg-fAames yomelr it g9y D) gaifde garsit & sTa#ATer gl aren
AR wrehfcen fasor Sifas AT
Which exposed wood will decay faster?
A) Sapwood B) Softwood
C) Wood with lot of fibres D) Heartwood
i H fRrERor a8t a9l & w3 Sreefi?
A) dugs B) diwegs
C) g & Yeit arelr wrendy D) grégs

The ectomycorrhiza forms an intercellular network of hyphae in root cortex is
known as:

A) Haustoria B) Arbuscules

C) Hartig net D) Vesicles

TFHABHFRIEST 518 & FeFT H TH JHAIHART el ol Tl &, & A
¥ AT ST §

A greafar B)  srdacpera
C) giféar e D) af@eew
Major food crops of the world are the members of the family
A) Leguminosae B) Solanaceae
C) Cruciferae D) Gramineae
gforar i warw @y wed IRaR & weed §

A) iR B)  dremed
C)  spfarendr D) et
Ethiopia is the original home of

A) Coffee B) Maize

C) Rice D) Cabbage
s e A@ W B

A) Y B)  #erenr

C) dmaa D) amsh
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73.

74.

75.

76.

77.

78.

Which gas is released from paddy fields?

A) Carbon dioxide B) Hydrogen sulphide
C) Methane D) Ammonia

e & Qal ¥ S @ d7 Pwadh § 2

A) T SE3TFESS B) gE3ed Tewiss
C) f&ada D) smfaar

If the same fraction of both prey and predator population is removed, which
population (s) recovers faster?

A) Prey population B) Predator population

C) Both simultaneously D) None

Ife AR 3R e Q=) e F1 v AW 37T ger AT Sar & a Fia @
IEEY AT § WA g SAR™E?

A) fReR 3TETEr B) ferY 3merdr

C) o=t s g D) =I1$ ¢t

When pollen of a flower is transferred to the stigma of another flower of same
plant, the pollination is known as

A) Xenogamy B) Geitonogamy

C) Autogamy D) Allogamy
9 TF Tl F WET 3@ M F gE o & Feear # vu=aRa g g at

WEIT & T F AT J4GT &

A) R B) St

C) 3fferter D) warde

In plants meiosis occurs in

A) Root tip B) Pollen grain

C) Stemtip D) Anther
dtet # sreipiifemse g &

A) Fs T AT B)  wmer o

C) ww=# fu D)  wmer-arer

Compound eyes are present in:

A) Arthropods B) Annelids

C) Molluscs D) None of these

A)  aryfaesa B) cfafasa

C) Aroera D) ot & RIS A
Nervous system in vertebrates consists of:

A) Central nervous system only B) Peripheral nervous system only
C) Autonomic nervous systemonly D) All of these

gs3are Sftg &1 dfer a7 gar &

A)  Fad HE df¥Hr dF B) Faor uRkehwr dfyer o=
C) ad TR df¥er aF D) =aaf @ gafr
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79.

80.

81.

82.

83.

84.

85.

A sum of the constructive processes in our body is called:

A) Anabolism B) Catabolism
C) BMR D) Metabolism
TR RN A TTATCAS IFA3T F 9T F FeT IAGT &
A o B) 3=y

C) R D) =
Mites belong to class

A) Arachnida B) Insecta

C) Crustacea D) Chilopoda
A Y FarT §

A)  3RETET B) gawar

C) weefrar D)  Frgeder

Systole refers to
A) Relaxation phase B) Contraction phase
C) Both relaxation and contraction D) None of these

R Y Aefid FIar §
A) IR IOT B)  dewe =Ror
C) 2t 3w 3R @Fas wWor D) st @ Fw

Filter chamber of Homopterans helps in rapid removal of

A) Salt B) Water

C) Excretory material D) Nitrogen
AT FT fheex AFaw A A ¥ fArswraaT & Aeg FaT
A) FFAF B) ued

C) 3cHad uerd D) argere
Malpighian tubules are absent in

A) Protura B) Thysanoptera
C) Collembola D) Isoptera
Aredfarge Afahe # srepafeya gt §

A) g B)  argdmEAT
C) wrorater D) smsdew
Which one of the following minerals control heart?

A) Sulphur B) Sodium

C) Iron D) Potassium
famafaf@a & @ #l7 w1 afas Re # fkifya swar 2
A) Temt B) @ifsgs

C) 33mRa D) aefRa
Most nematodes are dimorphic and ............

A) Monocious B) Dioecious

C) Male D) Female
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86.

87.

88.

89.

90.

A)  AfaEE B) srfauw

C) | D) Armer

India has monopoly in which silk?

A) Munga B) Tussar

C) Seri D) Mulberry
FlT ¥ WA F ARG FT THIOHR &2

A) B) ew

C & D) wHoredy
Which state is largest producer of fuel wood in India?

A) Karnataka B) Himachal Pradesh
C) Maharashtra D) Bihar
WA H §Ua AT dAhS HT IV F37 3cUGH IS HiT AT &2
A)  FeeH B) fRemger uder

C) =mgrISe D)  faer

Red data book deals with

A) Endemic plants B) Extinct plants

C) Plants showing photoperiodism D) Plants on verge of extinction
3z 31 9% frud wafla &
A) wnfag o B) faered qier
C) wrdifRenfser vaia e D) geter 3R qecumr die
arer giex

Indian Council of Forestry Research and Education was declared as autonomous
council under Ministry of Environment and Forests on

A) 1% June, 1991 B) 15" May, 1992

C) 11" May, 1992 D) 1% April, 1991

R arfaehr srqauTe 3R e oRwg #r gAievor AR g@ FAAET GEART @R

uRg & w0 & afRa BFar = ar

A) 13, 1991 B) 157, 1992
C) 11#:s, 1992 D) 1 3mer, 1991
Who regulates the markets in agricultural products in India?
A) Essential Commodities Act, B) Agricultural Produce Market
1955 Committee Act enacted by States
C) Agricultural Produce (Grading D) Food Products Order, 1956 and Meat
and Marking) Act, 1937 and Food Products order, 1973

aRd & FR 3cuEt F TRt F e A wwar @2
A) 3maead aeg dfafaae, 1955 B)  gedl qan sffaefaa s sue
IR |iATT 3rfefTs
C) F¥ 3curg (AfSer sk anfder) D) @iy seurg 3meer, 1956 3R A/ 3R
sfafega, 1937 Gleg 3c9Te 37T, 1973

17



91.

92.

93.

94.

95.

96.

The germplasm theory was proposed by

A) Weisman B) Mendel

C) Darwin D) Hugo de vries
SvaeH Ruid _ q@nT yearfad fwar @ ar

A)  Freeide B) dsa

C) e D) gt 3 aRw

In which of the following sub-stages of meiosis-1I, chromatin exchange between

non- sister chromatids is completed?

A) Pachytene B) Diplotene

C) Zygotene D) Diakinesis
fmfaf@a & @ sl ar srRpifasmee-1 § R-ag Frifes & & weifea
fafesa oo &ar 2

A EET B) Rrade

C) SFmsmde D) sreRfaw

Triploid endosperm is present in ---

A) Angiosperms B) Gymnosperms

C) Pteridophytes D) Bryophytes
Rudiss TSFUHd - F g AT §

A) uferemsd B) Searegsd

C) e D)  smwscH
The shifting or zoom cultivation is practised mainly in which part of India?
A) North East India B) South India

C) Western India D) Central India
R a1 57 A A<t FET W F ART F W awr F Hir S g2

A) 3R q& #RA B) @3y gfEar

C) ofRgel siRa D) #ew oRa

The world Agroforestry Centre is located at---

A) Jhansi B) Nairobi

C) Beijing D) Tokio
freg TR $7 - F Rwa ¥

A) g B) R

C) &fSEr D) afFar

Primary resource for agriculture are:

A) Land, air and water B) Seed, Fertilizer and Pesticide
C) Seed, air and water D) Land, Fertilizer and water
F & v yafs wane &

A)  offar, gar 3R Ol B) e, 38 3R e
C) &, arg 3R S D) &ffr, 3w 3 areh
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97.

98.

99.

100.

Transformation of raw organic matter into humus is called---

A) Humification B) Brounification

C) Rubrification D) All of the above
Fed FEWS I F AT A TqoT FT FeT AT § -

A)  giaTheere B)  sRifrsera

C)  wfafreere D) swiwa aei
Which of the following produces pseudo dominance?

A) Inversion B) Deletion

C) Duplication D) Translocation
frafafea & & Fi7 oa v da1 war &

A) 3o T B) f&er &

C) gfafaf sam=r D)  &ehr e
The period after parturition in which animal produces milk is called as
A) Dry period B) Calving period

C) Conception D) Lactation period
YT & a1g A 3aftr e 9y qu FT IeUEs FIAT §, F FET AT §
A) e 3afa B) &feqer rafer

C) arsrens D) TaeureT & 3afe

Earth Summit in Rio-de-Janerio (Brazil) was related to ..........

A) Land survey B) Soil fertility

C) Conservation of genetic D) Water conservation

resources of animals and plants

Rar-S-aafar (Fehe) & godft Rew a7 e & . gafta am
A)  #feE adator B) fAcdr v 3ar

C) SRt 3R ot & ameERes D) Ster e

HATUAT ST HIGTOT

A B 06 0 B A A0 0 B A A B B A A B B Ak 3k

19



ROUGH WORK

20



ROUGH WORK

21



ROUGH WORK

22



